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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

He has recently bought a ---------- car.

1) white beautiful Japanese big 2) beautiful white big Japanese

3) beautiful big white Japanese 4) Japanese big beautiful white

I kept him waiting for such a long time ------------ .

1) that he got so angry 2) to get him angry enough

3) because it got him very angry 4) for getting him too angry

I know it wasn't what you expected, but you ---------- so rude.

1) couldn't be 2) might not have been

3) must not have been 4) shouldn’t have been

I really felt ashamed of the impolite ---------- that my friend made at the other driver.
1) scene 2) gesture 3) hardship 4) embarrassment
I to another seat because I couldn't see the film.

1) followed 2) removed 3) provided 4) switched

The research done produced ------------ that surprised almost everyone.

1) results 2) pioneers 3) endeavors 4) impressions
Few people are able to ------------ themselves fully to their career.

1) operate 2) devote 3) perform 4) transfer

It is ----emmmmme- knowledge that swimming is one of the best forms of exercise.

1) serious 2) average 3) common 4) efficient

He may die unless he is taken to hospital ----------- .

1) immediately 2) previously 3) necessarily 4) anxiously

I didn't want to take my kid to work, but he ---------- going with me.

1) passed on 2) insisted on 3) helped out 4) got away from

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

86-
87-
88-
89-
90-

The Romans spoke of health in a proverb: "A healthy mind in a healthy body." In addition

to physical health, an/a (86) ---------- of mental health is important. Too much mental stress
can have a bad (87) ---------- on one's physical well-being. The human body is much more
(88)  ——ee- than any machine. Yet it needs less day-to-day care
(89) -------- any machine. No machine can do all the things the body can do. No machine
will work for 70 years or more, day and night, requiring only air, water, food, and only
90) ---------- simple rules. No machine has been made which can adjust to so many different

conditions as the human body.

1) summarizing 2) succeeding 3) separating 4) understanding
1) device 2) effect 3) stance 4) phase

1) private 2) certain 3) complicated 4) repetitive

1) than 2) from 3) with 4) of

1) alittle 2) little 3) afew 4) few
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by choosing

the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer
sheet.

PASSAGE 1:

The game is played for four quarters of 15 minutes each or two halves of 20 minutes each.
Playing time may be shortened for schools or for a series of matches played in one day. Two
referees control the game, keep the score, and keep time except in internationals.

To start the game, one of the centers passes the ball from the small center circle. This is
called a center pass and is also used for restarting the game after a goal. One of the attacking
teams (the team taking the center pass) must touch or receive the center pass within the center
third. After that the ball is thrown from player to player until goal shooter or goal attack
receives the ball in the shooting circle and tries to score.

The players may not walk or run while the ball is in their possession, or hold it for more than
three seconds. The ball may be thrown or bounced to another player but not rolled or kicked. A
player may bounce or bat the ball once before catching it. The ball may be caught while it is in
the air but a player may not take the ball out of another player's hands or contact (touch) her in
any way. A player standing the correct distance away may block the movement of a player or
the flight of the ball. The ball may not be thrown over a complete third of the court. If a player
of one team sends the ball out of court, it is thrown in by one of the other team. When a rule is
broken, either a free pass or a penalty pass is given to the other team.

The passage is primarily written to ---------- .

1) explain some rules 2) advertise something

3) make some suggestions 4) describe the function of a game
When one of the centers passes the ball from the small center circle --------- .
1) the game actually begins 2) the game has to be repeated

3) an attack has been prevented 4) the referee should stop the game

Which of the following is forbidden?

1) The ball thrown to another player but not kicked

2) A player running with the ball in his hands.

3) The ball thrown from player to player in the shooting circle.

4) The team in the center pass touching the center pass within the center third

How long are the players on the court playing the game?

1) 55 minutes 2) 35 minutes 3) 80 minutes 4) 60 minutes
What happens after a goal is scored?

1) A player may send the ball out of court.

2) The ball is bounced to the goal shooter.

3) The ball is passed from the small center circle.
4) The team taking the center pass receives the center pass within the center third.
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PASSAGE 2:

Ask your child to get groceries for you or place them in the basket. Give your child educational
instructions, such as «Get me the green can, please », or « Bring me the bag of rice, please». Don't
forget to say «please» and «thank you», when appropriate.

Involve your child into a friendly chat about what you're doing. For example, you might say,
«We're going to make sandwiches with this hamburger meat. You really like sandwiches, don't
you? »

This is also a good time to educate your kid. For example, «Bananas grow on trees. What else
can you think of that grows on trees? » or «All fruits have a skin or cover on them to protect them
from rain and bugs». By your frequent physical contact, praise, teaching, and pleasant conversation,
your child will remain much more interested in the trip. By actually helping you, he will learn that
stores are a fun place to visit.

If your child breaks one of your rules, immediately make him sit in «time-out». This can be any
place that is generally out of the normal flow of foot traffic. In a grocery store, you can just point to
one of the tile floor squares and firmly tell your child to sit on that square because he walked away
from you. In a restaurant, you can simply turn your child's chair around. If the restaurant is not very
crowded, you can place your child on another chair about 3 to 4 feet away from you. As soon as
your child is quiet for about half a minute, tell him that it is okay to get up or to turn his chair back
to the table.

What does the passage mainly discuss?

1) Going to public places with your kid can give a chance to make him/her learn new things.

2) A good education of kids by parents is not an easy thing to do and takes a lot of time and
patience.

3) Children learn new things more by doing than listening to someone talking about good
behavior.

4) Quick punishment is necessary if you see your child breaks rules of behavior in public
places.

Which of the following best states the topic of paragraph 1?

1) Involve your child in the activity as much as possible.

2) Teach your child about this world.

3) Teach your child to behave correctly.

4) Make your child obey the rules.

The statement in paragraph 3 '"Bananas grow on trees. What else can you think of that grows

on trees?" is intended ----------- .

1) as an example to support the main point of the paragraph

2) to show that children are thirsty for knowledge and you should consider this need

3) to emphasize the fact that the questions you ask your children should be related to their
immediate needs

4) as a means to help enhance the education they receive at school

The word '"'them'' in paragraph 3 refers to ----------- .

1) trees 2) skins 3) bananas 4) fruits

According to the passage, if you are in a store and your Kkid fails to follow your rules, you

should ---------- .

1) just make the kid walk away from you

2) have the kid follow you at a distance of 3 to 4 feet

3) make him sit down somewhere out of people' way as a kind of punishment

4) ask the kid to sit on a chair not very far away from you in a place where there are not many
people walking



